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M.A. (Fourth Semester)
EXAMINATION, MAY-JUNE, 2022

ECONOMICS
Paper First

(Economics of Development and Planning)

Time : Three Hours] [Maximum Marks : 80

    

Note : Attempt all sections as directed.



(Section-A)

 

(Objective/Multiple Choice Questions)
(1 mark each)

  

Note- Attempt all questions.

  

Choose correct answer.

P.T.O.
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1.    

(A) 

(B) 

(C) 

(D) 

Period of twelfth five year plan was

(A) 

(B) 

(C) 

(D) 

2.       

(A) 1970

(B) 1975

(C) 1980

(D) 1990

Twenty point programme was announced in

(A) 1970

(B) 1975

(C) 1980

(D) 1990
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      

(A) 

(B) 

(C) 

(D) 

Which plan was achieved highest growth rate?

(A) Fifth

(B) Seventh

(C) Eighth

(D) Eleventh

4.  

(A) 2015

(B) 2016

(C) 2017

(D) 2018

NITI Aayog was established in

(A) 2015

(B) 2016

(C) 2017

(D) 2018

P.T.O.
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5.  (s)

(A)
Vs
S

(B)
SS
V

(C) s S V
(D) s S V
As per Marx, surplus value (s) is

(A)
Vs
S

(B)
SS
V

(C) s S V
(D) s S V

    

(A)  

(B) 

(C) 

(D)  

Innovation model is given by

(A) Karl Marx

(B) Schumpeter

(C) Lewis

(D) None



[5]

F - 882

7.      

(A) 

(B) 

(C) 

(D) 

In Rostow model stages of growth are

(A) 2

(B) 3

(C) 4

(D) 5

8.  

(A) 

(B)  

(C)   

(D)  

Disguised unemployment is traced in

(A) Organised sector

(B) Service Sector

(C) Unorganised and agriculture

(D) None

P.T.O.
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9.     

(A)  

(B)  

(C) 

(D) 

Unlimited supply of labour theory is given by

(A) Karl Marx

(B) J.M. Keynes

(C) Lewis

(D) Meade

10.     

(A)  

(B) 

(C) 

(D) 

Low level equilibrium theory is given by

(A) Karl Marx

(B) Lewis

(C) Nelson

(D) Meade
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11. CME

(A)   

(B)  

(C) AB

(D)  

CME theory is related with

(A) Underdeveloped Countries

(B) Developed Countries

(C) A and B both

(D) None

12.  

(A)  

(B) 

(C) 

(D) 

"Production function, demand and supply of savings are
indivisible". Statement is given by

(A) Karl Marx

(B) Rodan

(C) Nelson

(D) Meade
P.T.O.
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13. 
(A)  
(B)  
(C) 
(D)  

When all sectors of economy expanded simultaneously
(A) Balanced growth
(B) Unbalanced Growth
(C) Rapid growth
(D) None

14.       

(A)
1C I Y

C I Y

(B)
C I Y
C I Y

(C)
C IY
C

(D)  
As per Alak Gosh 'In balanced growth'

(A)
1C I Y

C I Y

(B)
C I Y
C I Y

(C)
C IY
C

(D) None
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15.    

(A)  

(B) 

(C) 

(D) 

Unbalanced growth theory is given by

(A) J.M. Keynes

(B) A.C. Pigoue

(C) Marshall

(D) Hirschman

16.  

(A) 1950

(B) 1960

(C) 1956

(D) 1958

Myrdal gave his theory in

(A) 1950

(B) 1960

(C) 1956

(D) 1958

P.T.O.
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17.      

(A)   

(B) 

(C) 

(D)  

Who gave Capital Turnover investment criteria

(A) Polak & Buchnan

(B) Leibenstein

(C) Lewis

(D) None

18.     

(A)  

(B)  

(C)  

(D)  

Time series investment criteria is given by

(A) Alak Ghosh

(B) A.K. Sen

(C) J.K. Mehta

(D) None
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19.        

(A) 

(B) 

(C) 

(D) 

Polak divides investment into categories

(A) Five

(B) Four

(C) Three

(D) Two

20. 

(A) Wu

(B) Wu

(C) 0Wu

(D) Wu  

In Harris Tadaro model migration from rural to urban area
will increase if

(A) Wu

(B) Wu

(C) 0Wu

(D) Wu  Unchanged

P.T.O.

[12]

F - 882

 

(Section- B)

  

(Very Short Answer Type Questions)

(2 marks each)

   

Note :  Attempt all questions.

1. 

What is mean by Overall growth rate?

2.  

What is innovations?

3.   

What is mean by Take off stage?

4.     

Give definition of unbalanced growth.

5.  
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What is investment criteria?

6.  

What is mean by Critical Minimum Effort?

7. 

What is capital output ratio?

8.  

What is mean by unemployment?



(Section - C)

  

Short Answer Type Questions)

(3 marks each)

     

Note : Attempt all questions. Write answer in 75 words.

1.     

Explain capital formation.

P.T.O.
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2.   (ADF,ASF)  

Give Aggregate Demand and Supply Function (ADF,ASF)

3.   

What is Schumpeter's production function concept?

4.       

Give agricultural surplus in Ranis and Fie model.

5.   

What is daulistic theory of development?

    

Discuss on Back Wash effect.

   

What is reinvestment criteria?

      

Clarify choice of techniques.
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

Section - D

  

(Long Answer Type Questions)

(5 marks each)

     

Note : Attempt all questions in 150 words.

      

Give strategy of economic planning.

OR

      

Discuss on development model of Karl Marx.

       

Comment on critical minimum effort theory.

OR

       

P.T.O.
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Explain vicious circle of poverty in respect of demand and

supply.

    

Give your view on Big push theory.

OR

      

Evaluate Social Marginal Productivity criteria.

     

Write essay on "NITI Aayog".

OR

    

Explain Harris Todaro model.


